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7 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3ImZEBZ D -~ — — —
s 1.00 | 0.00 ~ 472 5887 | =S | 000 ~ 4.72| 1.81 9.66 Thlst 1.00 | 5.00 ~ 56.00 58.87 | =4 | 5.00 ~ 6.00| 1.81 9.66
2 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 682 86.29 | #nS | 000 ~ 682 1.84 9.87 Thst 1.00 | 5.00 ~ 850 86.29 | Thst | 6,00 ~ 850 1.84 9.87
3 100kN/m%z#Z25| 100|000 ~ 067 10993 |3m&EEZE| — ~ — — — | 100kN/mi%#825 | 1.00 | 1057 ~ 1254 109.93 |3mEEZ5 - ~ — — —
st 1.00 | 0.67 ~ 845 100.00 | =nhist | 0oo ~ 845 | 214 11.46 Thlst 1.00 | 6.00 ~ 1057 100.00 | =nLS | .00 ~ 1254 2.14 11.46
4 100kN/m%E#8z5| 1.00 | 000 ~ 169 12589 |3m&x#Bz5| — ~ — — — | 100kN/m#%#8z25% | .00 | 1068 ~ 17.17| 125.89 |3m%EBZ3 -~ — — —
ZhLst 1.00 | 1.69 ~ 948 100.00 | #hst | 000 ~ 948|229 12.24 ZhLst 1.00 | 6.00 ~ 10.68 100.00 | #nst | .00 ~ 17.17] 2.29 12.24
5 100kN/m%E#8z5| 1.00 | 0.00 ~ 167 12559 |3m&EBzZB| — ~ — — — | 100kN/m#%#825% | .00 | 11.06 ~ 1847 125.59 |3mEHBZ % -~ — — —
s 1.00 | 1.67 ~ 946 100.00 | =nLst | 0.00 ~ 9.46 | 2.22 11.87 Thst 1.00 | 6.00 ~ 11.06 100.00 | =nLst | 6.00 ~ 1847| 2.22 11.87
P 100kN/m%E#8z5| 1.00 | 000 ~ 1.89| 12907 |3m&EBzZB| — ~ — — — | 100kN/miZ#825 | 1.00 | 1061 ~ 1800 129.07 |3mEEZ5 - ~ — — —
s 1.00 | 1.89 ~ 967 100.00 | #nst | 000 ~ 9.67 | 2.31 12.36 Thst 1.00 | 5.00 ~ 1061 100.00 | =hist | .00 ~ 1800 2.81 12.36
100kN/mM%E#BZ % ~ ImERBAD ~ 100kN/ m#%#8 % % ~ ImEEAD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhus ~
100kN/mMZ#8Z % ~ 3mEBRD ~ 100kN/ Mm%z 5 ~ ImERBZD ~
Thsn ~ ZFnLst ~ ZznLst ~ Zzhus ~
100kN/MZ#8Z % ~ 3mEBAD ~ 100kN/ Mm% 25 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/ M%#2Z % ~ 3mEBZ D ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEBR D ~ 100kN/ Mm%z 5 ~ ImERBZD ~
zhsn ~ ZznLst ~ znLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEBRD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#82 % ~ 3mEBR D ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEBRD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/M%#82 % ~ 3mEBR D ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~




